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Übung 1: 

a) 2 • 105 
 = ___________________________________________________ 

b) 3 • 103  = ___________________________________________________ 

c) 1 • 106  = ___________________________________________________ 

d) 8 • 109  = ___________________________________________________ 

e) 6 • 102 = ___________________________________________________ 

f)  9 • 104 = ___________________________________________________ 

Übung 2: 

a) 2,187 • 102 
 = _______________________________________________ 

b) 3,198 65 • 103 
 = _____________________________________________ 

c) 1,076 5 • 106  = ______________________________________________ 

d) 5,392 4 • 109 = _______________________________________________ 

e) 2,08 • 104 = _________________________________________________ 

f)  8,397 7 • 105  = ______________________________________________ 

Übung 3: 

a) 45 • 10-4  = _________________________________________________ 

b) 187 • 10-3  = ________________________________________________ 

c) 9,56 • 10-5 = ________________________________________________ 

d) 1 673,2 • 10-4 = ______________________________________________ 

e) 74,67 • 10-5 = _______________________________________________ 

f)  3 • 10-6 = ___________________________________________________ 
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